FC Supplementary Examination | 2000/01

Section B Short Questions

BL

200s? x- 500sx+2=0 0°< x<360°

Lety=cosx, b 2y?-5y+2=0 2y><-;
(2y - 1)(y- 2) =(200sx - Dcosx - 2)=0 y -~ -

\ cosx:% or 2(rejected)
X =60° or 300°

B2

2x% - 7x>4
2
2X° - Tx-4>0 2% +1

(2x +1)(x - 4)>0 ><

\ x<-% or x>4

B3.
. , 30 , 2
The new mixturecost of 100g = (20)" —+(80)" — =6+16 =%$22
100 100
B4.
-
150m 100 m 150 m
M 1 N

@ snBTMN=9 b ormN=sn X 418
150 150

(Correct to 1decimal place)



(b) Consider DCTMP,

byusing sine formula,

sSnBDTMP _ sn 60 b <nBTMP =120° 3N 60
120 150 150 150
b DTMP=43.9°  (Correct toldecimal place) 120 m
BS. 600
M P
80
a) Sector angleq=—
(@ gleq 180 P
_ 1 2 80 _ 2 12 m
The areaof the spa pool = r<q xﬁxp =44.7m
(Correct to1 decimal place)
(b) Theareaof the pavement surrounding the pool 8 m
= 12" 15-44.680 = 135.3nr> spa pool

B6.

\80"

15 15

(a) The probability that the flower is pink = = :%

(b) The probability that both flowersarered =

10+25+15+10 60
25 24 25, 24

10+25+15+10 10+24+15+10 60 59

15 m

9



B7.

PBAD = % =79°
(b at centretwice b at O%°)

PBCD =180°- DBAD =180° - 79° =101° A ‘
(.: opp.B.cyclic quad)

Section C
CL
2x?- (k+1)x+(k-1)=0 a andbareroots
(a) a+b:'['(k+l)]:|“rl
2 2
k-1
b) ab="_=
(b) 5
- 2 i
(0 a?+b?=(a +b)*- 2ab= ("1 . p, K L K 2k#l- dk+4
2 2 4
:k2—2k+5
4

(d) D=[(k+1)- 4(k- =0
(k+17- 8k-1)=0p k2+2k+1- 8k +8=k?- 6k+9=(k-3)2=0
\ k=3

() From(d), D=(k- 3)*>=0

\  Therootsof theequationarealways real for all real valuesof k
(f) whenk=-2, 2x2- (k+1Dx+(k-1)=0

2x°- (- 2+42)x+(- 2-1)=2* +x-3=0 2x +3
@2x+3(x- =0 ><

3 X -1
\' x= or 1

2

D



c2

(a) Consider DBCD,
BD _ 10

by using sine formula,

= P BD=sn98°" =17.7Im
sSn98% dn34° sn34°
(Correct to2 decimal places)
0 -2 =20 p pe=snag 22 =1320m
sn48° dn34° sn34°
(Correct to2 decimal places)
(c) Consider DABD,

AD = c0s62° xBD = cos62°” 17.71=8.31m
AB =sn62°xBD =sn62°" 17.71 =15.64m
The perimeter of ABCD= AB+BC+CD +AD =15.64+13.29+10+8.31 = 47.24m
(d) Thecost of fencing ABCD=%$10" 47.24 = $472

(Correct tothe nearest dollar)

(e) Consider DBCD,

10 m

Theareaof thetriangular plot BCD=% BC>CDsnbBCD =%' 13.29” 10" sin98°

= 65.80 » 66mM° (Correct tothe nearest mz)
(f) Thecost of mowing thetriangular plot BCD = $1.50" 66 = $99
(Correct tothe nearest dollar )

C3.
(a) Thesurfaceareaof C= 6X1)*=6m’

1
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- M 2
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e2g
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(b) The surfaceareaof C, = 6><(%)2 :g m?
1.1, _3 5
(©) Thesurfaceareaof C, = 6X(E) (E) :gm

Thesum of surfaceareaof C,,C, and C;=6 +g +§ =7.875m°

(Correct to 4 significant figures)
(d) firstterm second term third term

1 2 1 2 1 2
6 6’(? 6’(? (E)
1
6x(3)°
a=6 R= 2 :(l)zzl
6 2 4

N1
General teem T(n)=aR"™" = 6><€é9
e4g

L 7-1 .6

C, =T =682 =682 =00014657
edgp

(Correct to 4 significant figures)
(e) Snce- 1<R<],
a

the sumof surfaceareaof allthecubes= S(¥ )= 1R = =
- 1

o

N

Mwlo

2" 4=8m°



C4

(a) Theequationof thecircle:

(x-0 +(y-0=3> b x*+y*=9

b x2+y2-9=0-- (1)

(b) Theequationof thetangent: y=mx+5----- (2)
Sub(2)to (1), x2+(mx+5)f-9=0

y

X +m*x° +10Mmx +25- 9=0 P (1+m’)x* +10mx+16=0
D=0,

D= (10mx)? - 4xf1+m?)x6=0

100n7x? - 64- 64’ =36m’ - 64=0

mwob4_16 16
9

Read fromthe figure,the slopeof thelineisnegative.

L4
36 9 3

\ m:-ﬂ

3
(c) Theequationof thetangent: vy =- i:;'x +5
X-intercept: wheny=0,0= -gx+5b X= L

y - intercept : Whenx:O,y:-g(O)+5b y=5

075

The area of thetriangle= —>€i5 >6—— unit?

(d) Let m bethe slope of the normal

a2

\ Thecoordinateof the pointT i ISQ— 90

normal




CsS

There are two groups of fish in the pond. The mean measures the average of two groups
instead of central tendency of each group.
(a) 32,33,40,47,47,51,53,54,58,95

32+ 33+40+47+47+51+53+54+58+95 _

mean = 51
10

32, 33,40,47,477 51,53,54,58,95

median = 47+51 =49

mode =47

(b) Therearetwo groupsof fishinthe pond. The meanmeasures theaverageof two groupsinstead of central tende
(© x =%(median of Group A+ medianof Group B)

Group A 5153545895 median=54
GroupB 3233404747 median=40
94

\ x=(54+40)=2 = 47
2 2

(d)
(x- X)  (x- x)?
mark x
32 -19 361
33 -18 324
40 -11 121
47 -4 16
47 -4 16
51 0 0
53 2 4
54 3 9
58 7 49
95 44 1936
mean
51 sum 2836 | 2836/9=  315.1111
standard derivation 17.8




